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The phrase-"THE WHITE MAN®" which is known to be used by American
Tribal Members, is not connected to a race or color, but a lifestyle
which has no english word for comparisen to a tribal word, so the word
"civilized” will be used.

The civilized when calculating their sciences have a beginning reference
feom which a conclusion will be detrimined to an imaginary future, someplace
forvard down or up. This concept omits an observer.

A tribal scientist reference point i at the wvery end. He begins his
thecry by looking back to where he started from in the past, backwards
up and down, in which he is always the observer. As this observer, he
was able to give a simple solution to life, which iz highly techaieal,
that is not a science in the civilized world- "THE PRESENT MINUS THE PAST,
EQUALS THE FUTURE."

As a rcivilised individual, born and raised to think and present logics
from Aristotlas TOPIC OF TOPICS philosophy, are now asked to defend two
philosophers, who you know little or nothing about; against a tribal member
who is an observer to these philosophers, who has been clagsified
intellectually somevhere's between a dog and a beast by your society.

But by tribal law which must be shown by tribal courtesy, a tribal member
cannot use this advantage, but within a system the civilized understands.

However, I'm not required to step down from a high place.

To begin this explaination. 1f one was Lo take this 186,000 miles
per second using the ecivilized system, it can be shown mathematically
as followst

0.0000000000298324107

AnyY high school can work this out. When I was in a Gévernment Indian
School, it had to been done at the Elzmentary level.

Lets expend this into & graph that shows how l1ittle is Known on

the Speed of light.
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